

County Distribution Detail Report through 12/02/2021

Aurora

Demention Devied	Telesen Lines		VOIP	Total Lines	Currek enne	Adusiu Fac	Net Curchenne	F = 4 i 4 v	
Reporting Period	Telecom Lines	Wireless Lines	Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	997	1,927	27	2,951	\$3,688.75	\$101.92	\$3,586.83	0.70	\$2,510.78
							Entity Tota	al:	\$2,510.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,510.78
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	3,290	10,526	369	14,185	\$17,731.25	\$370.99	\$17,360.26	0.70	\$12,152.18
							Entity Tota	al:	\$12,152.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,152.18
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	865	1,240	6	2,111	\$2,638.75	\$82.19	\$2,556.56	0.70	\$1,789.59
							Entity Tota	al:	\$1,789.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,789.59
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,719	3,933	9	5,661	\$7,076.25	\$143.19	\$6,933.06	0.70	\$4,853.14
							Entity Tota	al:	\$4,853.14

Adjustment: \$0.00

Total Amount: \$4,853.14

Adjustment:

Total Amount:

\$0.00

\$5,080.57

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
1 0			Lines		Ū		0	Percent	
10/2021	10,499	21,459	201	32,159	\$40,198.75	\$842.86	\$39,355.89	0.70	\$27,549.12
							Entity Tota	l:	\$27,549.12
							Adjustment	t:	\$0.00
							Total Amou	int:	\$27,549.12
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	8,581	26,278	595	35,454	\$44,317.50	\$951.32	\$43,366.18	0.70	\$30,356.33
							Entity Tota	l:	\$30,356.33
							Adjustment	t:	\$0.00
							Total Amou	int:	\$30,356.33
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	2,139	3,708	80	5,927	\$7,408.75	\$150.79	\$7,257.96	0.70	\$5,080.57
							Entity Tota	l:	\$5,080.57

Buffalo

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	518	462	2	982	\$1,227.50	\$26.23	\$1,201.27	0.70	\$840.89
							Entity Tota	al:	\$840.89
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$840.89
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	2,154	6,504	42	8,700	\$10,875.00	\$236.76	\$10,638.24	0.70	\$7,446.77

							Entity Tota	al:	\$7,446.77
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,446.77
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	637	1,396	21	2,054	\$2,567.50	\$52.82	\$2,514.68	0.70	\$1,760.28
							Entity Tota	al:	\$1,760.28
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,760.28
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	2,443	5,513	22	7,978	\$9,972.50	\$202.11	\$9,770.39	0.70	\$6,839.27
							Entity Tota	al:	\$6,839.27
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,839.27
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	69	3,050	106	3,225	\$4,031.25	\$99.79	\$3,931.46	0.70	\$2,752.02
							Entity Tota	al:	\$2,752.02
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,752.02
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	586	2,789	140	3,515	\$4,393.75	\$100.76	\$4,292.99	0.70	\$3,005.09
							Entity Tota	al:	\$3,005.09
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,005.09

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	3,272	11,327	152	14,751	\$18,438.75	\$378.00	\$18,060.75	0.70	\$12,642.53
							Entity Total	:	\$12,642.53
							Adjustment	:	\$0.00
							Total Amou	nt:	\$12,642.53
City of Sioux Falls, I	incoln (

City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	4,388	26,587	2,678	33,653	\$42,066.25	\$880.71	\$41,185.54	0.70	\$28,829.88
							Entity Tota	I:	\$28,829.88
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$28,829.88

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,187	2,283	41	3,511	\$4,388.75	\$89.69	\$4,299.06	0.70	\$3,009.34
							Entity Tota	l:	\$3,009.34
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$3,009.34
Clay									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,550	7,588	249	9,387	\$11,733.75	\$249.82	\$11,483.93	0.70	\$8,038.75
							Entity Tot	tal:	\$8,038.75
							Adjustme	ent:	\$0.00
							Total Amo	ount:	\$8,038.75

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	6,443	19,101	519	26,063	\$32,578.75	\$696.35	\$31,882.40	0.70	\$22,317.68

Entity Total:

\$22,317.68

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$22,317.68
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	989	756	305	2,050	\$2,562.50	\$53.02	\$2,509.48	0.70	\$1,756.64
							Entity Tota	al:	\$1,756.64
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,756.64
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	3,121	6,029	51	9,201	\$11,501.25	\$257.62	\$11,243.63	0.70	\$7,870.54
							Entity Tota	al:	\$7,870.54
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,870.54
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	4,403	14,026	314	18,743	\$23,428.75	\$485.67	\$22,943.08	0.70	\$16,060.16
							Entity Tota	al:	\$16,060.16
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$16,060.16
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,844	3,536	59	5,439	\$6,798.75	\$138.63	\$6,660.12	0.70	\$4,662.08
							Entity Tota	al:	\$4,662.08
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,662.08
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

Lines

10/2021	1,558	2,919	87	4,564	\$5,705.00	\$124.89	\$5,580.11	0.70	\$3,906.08
							Entity Tota	ıl:	\$3,906.08
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,906.08
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,076	2,147	28	3,251	\$4,063.75	\$85.04	\$3,978.71	0.70	\$2,785.10
							Entity Tota	ıl:	\$2,785.10
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,785.10
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,149	2,900	55	4,104	\$5,130.00	\$103.67	\$5,026.33	0.70	\$3,518.43
							Entity Tota	ıl:	\$3,518.43
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$3,518.43
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	2,774	4,750	31	7,555	\$9,443.75	\$195.20	\$9,248.55	0.70	\$6,473.99
							Entity Tota	ıl:	\$6,473.99
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,473.99
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	691	1,457	26	2,174	\$2,717.50	\$55.71	\$2,661.79	0.70	\$1,863.25
							Entity Tota	ıl:	\$1,863.25
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$1,863.25

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,841	5,298	67	7,206	\$9,007.50	\$183.84	\$8,823.66	0.70	\$6,176.56
							Entity Tota	l:	\$6,176.56
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$6,176.56

Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,533	3,509	6	5,048	\$6,310.00	\$138.46	\$6,171.54	0.70	\$4,320.08
							Entity Tota	l:	\$4,320.08
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$4,320.08
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	964	1,324	5	2,293	\$2,866.25	\$57.63	\$2,808.62	0.70	\$1,966.03
							Entity Tota	l:	\$1,966.03
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,966.03

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,434	3,843	51	5,328	\$6,660.00	\$134.64	\$6,525.36	0.70	\$4,567.75
							Entity Tota	l:	\$4,567.75
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,567.75
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	949	2,577	39	3,565	\$4,456.25	\$95.42	\$4,360.83	0.70	\$3,052.58

							Entity Tota	al:	\$3,052.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,052.58
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	779	3,059	408	4,246	\$5,307.50	\$111.18	\$5,196.32	0.70	\$3,637.42
							Entity Tota	al:	\$3,637.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,637.42
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	637	841	2	1,480	\$1,850.00	\$48.01	\$1,801.99	0.70	\$1,261.39
							Entity Tota	al:	\$1,261.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,261.39
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	573	3,082	192	3,847	\$4,808.75	\$151.01	\$4,657.74	0.70	\$3,260.42
							Entity Tota	al:	\$3,260.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,260.42
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	2,630	5,099	50	7,779	\$9,723.75	\$210.25	\$9,513.50	0.70	\$6,659.45
							Entity Tota	al:	\$6,659.45
							Adjustmer	nt:	\$0.00

Total Amount:

\$6,659.45

Hyde

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	579	1,043	11	1,633	\$2,041.25	\$41.38	\$1,999.87	0.70	\$1,399.91
							Entity Tota	I:	\$1,399.91
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,399.91
Jackson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	572	842	10	1,424	\$1,780.00	\$36.00	\$1,744.00	0.70	\$1,220.80
							Entity Tot	al:	\$1,220.80
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,220.80

Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	752	1,285	14	2,051	\$2,563.75	\$51.57	\$2,512.18	0.70	\$1,758.53
							Entity Tota	d:	\$1,758.53
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,758.53

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	495	659	4	1,158	\$1,447.50	\$29.54	\$1,417.96	0.70	\$992.57
							Entity Tota	l:	\$992.57
							Adjustmen	t:	\$0.00
							Total Amo	ınt:	\$992.57
Kingsbury									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,036	3,948	74	5,058	\$6,322.50	\$142.88	\$6,179.62	0.70	\$4,325.73
							Entity Tota	al:	\$4,325.73

Total Amount:

\$4,325.73

Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	2,440	8,937	128	11,505	\$14,381.25	\$298.76	\$14,082.49	0.70	\$9,857.74
							Entity Tota	al:	\$9,857.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$9,857.74
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	6,959	17,598	703	25,260	\$31,575.00	\$660.28	\$30,914.72	0.70	\$21,640.30
							Entity Tota	al:	\$21,640.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,640.30
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	3,345	23,767	1,366	28,478	\$35,597.50	\$821.14	\$34,776.36	0.70	\$24,343.45
							Entity Tota	al:	\$24,343.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$24,343.45
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,057	1,807	305	3,169	\$3,961.25	\$84.54	\$3,876.71	0.70	\$2,713.70
							Entity Tota	al:	\$2,713.70
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,713.70
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,406	2,879	36	4,321	\$5,401.25	\$116.80	\$5,284.45	0.70	\$3,699.12

Adjust Signed Adjust Signed Adjust Signed Adjust Signed Adjust								Entity Tot	al:	\$3,699.12
Accook Actor on Lines Mireles Lines VOP Lines Cala Lines Surcharge Admin Pe Actor Arge <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>Adjustme</td> <td>nt:</td> <td>\$0.00</td>								Adjustme	nt:	\$0.00
Reporting Period Telecom Lines Wireless Lines ODP Lines Total Lines Surcharge Admin Fee Net Surcharge Entity Amount Percent 102021 1,834 4,218 18 6,070 57,587.50 5156.32 57,451.18 0.707 55,201.83 102021 1,834 4,218 18 6,070 57,857.60 5156.32 57,451.18 0.707 55,201.83 Methores L L L L L L S5,201.83 Methores L L L L L S5,201.83 Adjustmem: S5,201.83 Methores L L L L L S5,201.83 Adjustmem: S5,201.83 Methores Mireless Lines MOP Total Lines Surcharge Admin Fee Net Surcharge S2,074.91 102021 888 1,535 6 2.429 S0.308.25 S196.07 S2,652.68 0.70 S16,556.88 102021 2,947 16,641 207 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>Total Amo</td> <td>ount:</td> <td>\$3,699.12</td>								Total Amo	ount:	\$3,699.12
Lines UPACE 102021 1,834 4.218 18 0,070 \$7,597.50 \$156.32 \$7,431.18 0.00 \$52.01.83 102021 1,834 4.218 18 0,070 \$7,597.50 \$156.32 \$7,431.18 0.001 \$52.01.83 Acpute Interval VER VER VER VER VER VER \$52.01.83 MCPherson VER VER Call Lines Surcharge Admin Fee Net Surcharge \$2.09.10 0.70 \$2.09.10 102021 88 1.535 6 2.429 \$3.03.02 \$72.09 \$2.09.10 0.70 \$2.07.10 102021 88 1.535 6 2.429 \$3.03.02 \$72.09 \$2.09.1.01 0.70 \$2.07.10 102021 88 1.535 6 2.429 \$3.03.02 \$2.07.10 \$2.09.1.01 \$0.00 \$2.07.10 102021 2.697 1.687 Call Lines \$2.07.10 \$2.08.0.10 \$1.0.	McCook									
Appring Period Secon Line Values Line So 20.01 Appring Period Secon Line Values Line So 20.01 102021 080 1.53 6 2.420 Storbarg Admin Fee Net Surcharg Pertity Fehrig Multi 102021 080 1.53 6 2.420 Storbarg Admin Fee Net Surcharg Pertity Pertity Pertity Storbarg Admin Fee Net Surcharg Pertity Pertity Storbarg	Reporting Period	Telecom Lines	Wireless Lines		Total Lines	Surcharge	Admin Fee	Net Surcharge	-	Entity Amount
Adjustmeri (1997) 1999 1999 1999 1999 1999 1999 1999	10/2021	1,834	4,218	18	6,070	\$7,587.50	\$156.32	\$7,431.18	0.70	\$5,201.83
Arberson Stand and in the second								Entity Tot	al:	\$5,201.83
AcPorting Period Telecon Lines Wireless Lines VOIP Lines Total Lines Surcharge Admin Fee Net Surcharge Entity Anount Percent 102021 888 1,533 6 2,429 \$3,306.25 \$72.09 \$2,964.16 0.00 \$2,074.91 102021 888 1,535 6 2,429 \$3,036.25 \$72.09 \$2,964.16 0.00 \$2,074.91 Adjustment: \$2,074.91 \$3,000.05 \$2,052.05 \$0,000.05 \$3,000.05 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>Adjustme</td><td>nt:</td><td>\$0.00</td></t<>								Adjustme	nt:	\$0.00
Reporting Period Percent is an interval of the section of the sec								Total Amo	ount:	\$5,201.83
LinesLinesoPercentPercent10/20218681,55562,429\$3,036.25\$72.09\$2,964.160.70\$2,074.91Lines -1.42 -1.42 -1.42 -1.42 -1.42 -1.42 -1.42 -1.42 -1.42 MeadeIntervalue to the second	McPherson									
Reporting Period Telecon Lines View Status View Status View Status View Status Reditive Status Status Reditive Status View Status View Status Reditive Status Status Reditive Status Status Status Reditive Status Status Status Reditive Status	Reporting Period	Telecom Lines	Wireless Lines		Total Lines	Surcharge	Admin Fee	Net Surcharge		Entity Amount
Agint metric String metric <t< td=""><td>10/2021</td><td>888</td><td>1,535</td><td>6</td><td>2,429</td><td>\$3,036.25</td><td>\$72.09</td><td>\$2,964.16</td><td>0.70</td><td>\$2,074.91</td></t<>	10/2021	888	1,535	6	2,429	\$3,036.25	\$72.09	\$2,964.16	0.70	\$2,074.91
Action Standard								Entity Tota	al:	\$2,074.91
Reade Reporting Period Telecom Lines Wirless Lines YOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Period Entity Pr								Adjustme	nt:	\$0.00
Reporting Period Telecom Lines Wireless Lines YolP Total Lines Surcharge Admin Fee Net Surcharge Entity								Total Amo	ount:	\$2,074.91
LinesPercent $10/2021$ $2,947$ $18,541$ 207 $21,695$ $\$27,118.75$ $\$596.07$ $\$26,52.86$ 0.70 $\$18,565.86$ $10/2021$ 18.541 18.541 18.541 18.541 18.541 18.541 18.541 $10/2021$ 18.541 18.541 18.541 18.541 18.541 18.541 18.541 Reporting PeriodTelecom LinesVOIP Lines Total LinesSurchargeAdmin FeeNet SurchargeEntity Amount Percent $10/2021$ 558 726 3 $1,267$ $\$1,608.75$ $\$32.39$ $\$1,576.36$ 0.70 $\$1,034.54$ $10/2021$ 558 726 3 $1,267$ $\$1,608.75$ $\$32.39$ $\$1,576.36$ 0.70 $\$1,034.54$ $10/2021$ 558 726 3 $1,267$ $\$1,608.75$ $\$32.39$ $\$1,576.36$ 0.70 $\$1,034.54$ $10/2021$ 558 726 3 $1,267$ $\$1,608.75$ $\$32.39$ $\$1,576.36$ 0.70 $\$1,034.54$ $10/2021$ 558 726 3 $1,267$ $\$1,608.75$ $\$32.39$ $\$1,576.36$ 0.70 $\$1,034.54$ $10/2021$ 558 726 3 $1,267$ $\$1,608.75$ $\$32.39$ $\$1,576.36$ 9 $$1,034.54$ $10/2021$ 10.545 10.545 10.545 10.545 10.545 10.545 10.545 10.545 10.545 $10/2021$ 10.5455 10.5455 10.5455 10.54	Meade									
Reporting Period Telecom Lines VOIP Total Lines Admin Fee Net Surcharge Entity Total \$18,565.88 10/2021 568 Yellests Yellests Surcharge Admin Fee Net Surcharge Entity Entity Amount 10/2021 558 726 3 1,287 \$1,608.75 \$32.39 \$1,576.36 0.70 \$1,034.45 10/2021 558 726 3 1,287 \$1,608.75 \$32.39 \$1,576.36 0.70 \$1,103.45 10/2021 558 726 3 1,287 \$1,608.75 \$32.39 \$1,576.36 0.70 \$1,103.45 10/2021 558 726 3 1,287 \$1,608.75 \$32.39 \$1,576.36 0.70 \$1,103.45	Reporting Period	Telecom Lines	Wireless Lines		Total Lines	Surcharge	Admin Fee	Net Surcharge	-	Entity Amount
Adjustment: Adjustment: \$0.00 Total Amount: \$18,565.88 Mellette VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Amount 10/2021 558 726 3 1,287 \$1,608.75 \$32.39 \$1,576.36 0.70 \$1,103.45 Iterrities Iterrities Iterrities Iterrities Iterrities \$1,03.45	10/2021	2,947	18,541	207	21,695	\$27,118.75	\$596.07	\$26,522.68	0.70	\$18,565.88
Addition State								Entity Tota	al:	\$18,565.88
Mellette Reporting Period Telecom Lines Wireless Lines VOIP Lines Surcharge Admin Fee Net Surcharge Entity Percent Entity Amount 10/2021 558 726 3 1,287 \$1,608.75 \$32.39 \$1,576.36 0.70 \$1,103.45 Lines Image: Colspan="6">Image: Colspan="6" Colspa="6"								Adjustme	nt:	\$0.00
Reporting PeriodTelecom LinesWireless LinesVOIP LinesTotal LinesSurchargeAdmin FeeNet Surcharge PercentEntity Percent PercentEntity Amount Percent10/202155872631,287\$1,608.75\$32.39\$1,576.360.70\$1,103.45Entity Total LinesFeeFeeFeeFee\$1,008.75\$1,008.75\$32.39\$1,576.360.70\$1,103.45Entity Total LinesFeeFeeFeeFee\$1,008.75\$32.39\$1,576.360.70\$1,103.45Entity Total LinesFeeFeeFeeFee\$1,008.75\$32.39\$1,576.360.70\$1,103.45Entity Total LinesFeeFeeFeeFeeFee\$1,008.75\$1,008.75\$1,008.75\$1,008.75\$1,008.75Entity Total LinesFeeFeeFeeFeeFee\$1,008.75\$1,008.75Entity Total LinesFeeFeeFeeFee\$1,008.75Entity Total LinesFeeFeeFee\$1,008.75Entity Total LinesFeeFeeFee\$1,008.75Entity Total LinesFeeFeeFee\$1,008.75Entity Total LinesFeeFeeFeeEntity Total LinesFeeFee\$1,008.75Entity Total LinesFeeFeeFeeEntity Total LinesFee								Total Amo	ount:	\$18,565.88
Lines Percent 10/2021 558 726 3 1,287 \$1,608.75 \$32.39 \$1,576.36 0.70 \$1,103.45 Lines Lines Lines Lines Entity Total: \$1,103.45 Lines Lines Lines \$1,000 \$1,000 \$1,000	Mellette									
Entity Total: \$1,103.45 Adjustment: \$0.00	Reporting Period	Telecom Lines	Wireless Lines		Total Lines	Surcharge	Admin Fee	Net Surcharge	-	Entity Amount
Adjustment: \$0.00	10/2021	558	726	3	1,287	\$1,608.75	\$32.39	\$1,576.36	0.70	\$1,103.45
								Entity Tota	al:	\$1,103.45
Total Amount: \$1.103.45								Adjustme	nt:	\$0.00
								Total Amo	ount:	\$1,103.45

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	928	1,609	11	2,548	\$3,185.00	\$66.24	\$3,118.76	0.70	\$2,183.13
							Entity Tota	l:	\$2,183.13
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,183.13
Minnehaha									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	36,964	153,781	5,491	196,236	\$245,295.00	\$5,302.67	\$239,992.33	0.70	\$167,994.63
							Entity Tota	ıl:	\$167,994.63
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$167,994.63

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,117	4,645	68	5,830	\$7,287.50	\$149.19	\$7,138.31	0.70	\$4,996.82
							Entity Tota	l:	\$4,996.82
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$4,996.82
Pennington									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	22,513	84,021	2,847	109,381	\$136,726.25	\$2,965.73	\$133,760.52	0.70	\$93,632.36
							Entity Tota	al:	\$93,632.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$93,632.36

Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,646	2,201	12	3,859	\$4,823.75	\$106.86	\$4,716.89	0.70	\$3,301.82

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,301.82
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,025	1,795	16	2,836	\$3,545.00	\$71.37	\$3,473.63	0.70	\$2,431.54
							Entity Tota	al:	\$2,431.54
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,431.54
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	3,117	5,189	21	8,327	\$10,408.75	\$230.31	\$10,178.44	0.70	\$7,124.91
							Entity Tota	al:	\$7,124.91
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,124.91
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	720	1,775	18	2,513	\$3,141.25	\$64.23	\$3,077.02	0.70	\$2,153.91
							Entity Tota	al:	\$2,153.91
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,153.91
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,663	4,512	88	6,263	\$7,828.75	\$161.84	\$7,666.91	0.70	\$5,366.84
							Entity Tota	al:	\$5,366.84
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,366.84
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

10/2021	644	2,201	47	2,892	\$3,615.00	\$76.54	\$3,538.46	0.70	\$2,476.92
							Entity Tota	d:	\$2,476.92
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,476.92
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	566	1,171	4	1,741	\$2,176.25	\$44.51	\$2,131.74	0.70	\$1,492.22
							Entity Tota	ıl:	\$1,492.22
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,492.22
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1	121	2	124	\$155.00	\$13.48	\$141.52	0.70	\$99.06
							Entity Tota	d:	\$99.06
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$99.06
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	2,131	3,970	45	6,146	\$7,682.50	\$158.86	\$7,523.64	0.70	\$5,266.55
							Entity Tota	ıl:	\$5,266.55
							Adjustmen	ıt:	\$0.00
							Total Amou	unt:	\$5,266.55
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,916	6,299	15	8,230	\$10,287.50	\$207.99	\$10,079.51	0.70	\$7,055.66
							Entity Tota	ıl:	\$7,055.66
							Adjustmen	ıt:	\$0.00
							Total Amou	unt:	\$7,055.66

	nin	n
U	IIIU	n

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	2,515	11,124	433	14,072	\$17,590.00	\$441.65	\$17,148.35	0.70	\$12,003.85
							Entity Tota	ıl:	\$12,003.85
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$12,003.85
147 1 11									

Walworth

TOTALS

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	1,739	3,506	207	5,452	\$6,815.00	\$139.95	\$6,675.05	0.70	\$4,672.54
							Entity Tota	l:	\$4,672.54
							Adjustment	t:	\$0.00
							Total Amou	int:	\$4,672.54
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2021	4,578	16,338	461	21,377	\$26,721.25	\$572.64	\$26,148.61	0.70	\$18,304.03
							Entity Tota	l:	\$18,304.03
							Adjustment	t:	\$0.00
							Total Amou	int:	\$18,304.03

188,9	614,8	66 19,706	6 823,505	\$1,029,381.2	5 \$22,200.01	\$1,007,181.24
-------	-------	-----------	-----------	---------------	---------------	----------------